
angielski dla ekologa

średni

Poziom trudności: Średni

1. What is the main reason of green-house effect?

A - carbon dioxide

B - oxygen

C - nitrogen

D - dioxine

2. What isn't the cause of deforestation?

A - acid rains

B - cutting down the trees

C - fires

D - insomia

3. What type of trees is endangered when acid rain falls?

A - pine

B - birch

C - oak

D - none

4. What is the reason of whole in ozon layer?

A - freon

B - fluorocarbon

C - dioxine

D - ozon

5. Ozon it is...

A - O

B - O2

C - O3

D - O4
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Karta odpowiedzi

1. A

2. D

3. A

4. A

5. C
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